FISCHER AUTOMOTIVE

257.817.001 OASIT13
M12x1.25 L=13

55184773

866.370.001 OAS049
M12x1.5x16

11137535106
1273093
STC2034

BMW
LAND ROVER

257.819.001 OASIT15
M14x1.25 L=12

031138
1681599
9672016980

PEUGEOT

FORD, FIAT

257.807.001 OASI112
M14x1.5 L=12

NO160271
NO160276

w @

257.828.001 OASO0123
M14x1.5 L=14

652492
94027565

OPEL e

GM

257.831.001 OASI125
M14x1.5 L=17

N90856001
N91086801

OAS126

M14x1.5 L=22

257.832.001

1151863301
4708897
93193728

SUZUKI @

OPEL

257.815.001 OASI51
M16x1.5

652452, 652498
NO160281
90487788

93195578
OPEL, VAG

OASO075

M16x1.5 L=15.5

153.520.001

7703075012

RENAULT @

257.814.001 OASI150
M18x1.5

07119905428
20450891
07119919125

07119919143
BMW, VOLVO

862.365.001 OASO15
M18x1.5 L=18

9186135, 978138
9781386, 978186
982547

986833 ‘ 7
VOLVO

095.410.001 OASO091

M20x1.5 L=1

@ @ 032510
PEUGEOT @

257.809.001 OAS104
M22x1.5 L=10

031125
16993411
5001014281

PEUGEOT @

FIAT, RENAULT

866.360.001 OASO59
M22x1.5 L=13

7740368

748.620.001 OASO079

M22x1.5 L=15

257.805.001 OASI10
M24x1.5 L=10

028103059A

257.871.001 OAS169

M24x1.5 L=14

WHTO00323A

862.366.001 OASO032
M26x1.5 L=14

1309970032

MERCEDES

257.804.001 OAS109
1/2" L=14

2RD103193
¢

257.865.001 OAS163

L=17

1871598, 1871600
9801444780
DS7Q6730AA
DS7Q6734AA

FORD, PEUGEOT

www.fal.pl

257.869.001 OAS167
M10x1.0 L=9

WHTOO05510

257.812.001 OAS102

M12x1.25 L=20

6822ER
9034112032

PEUGEOT
TOYOTA

768.920.001 OASO083
M12x1.5 L=18

11131273093
652453
90545397

OPEL

308.480.001 OASO084
M14x1.25 L=13

031121
031140

PEUGEOT @

862.368.001 OASO18
M14x1.5 L=12

DIN 910

518.472.001 OASO037

M14x1.5 L=14.4

N90288901
¢

OASI135

M14x1.5 L=17

257.841.001

2151223000
2151223001

HYUNDAI @

257.840.001 OASI134
M14x1.5 L=23

2151227000
2151227001

HYUNDAI @

257.846.001 OAS140
M16x1.5 L=10

807016160

SUBARU @

856.360.001 OAS089

M16x1.5 L=16

866.361.001 OASO030
M18x1.5 L=12

90021900930
90021902031

PORSCHE

OASO047

M18x1.5 L=21

866.371.001

55196505
652950
93183669

FIAT @

OPEL

257.822.001 OAS117
M20x1.5 L=12

94410719701

PORSCHE @

257.826.001 OAS121
M22x1.5 L=10

60573441

445.410.001 OAS080

M22x1.5 L=14

06080420607
N10037103

MAN
VAG

257.856.001 OAS154
M22x1.5 L=9

04847102
4847102

IVECO

257.839.001 OASI133

M24x1.5 L=12

11137605018

OASO023

M24x1.5 L=14

862.373.001

DIN 910
¢

280.750.001 OAS094
M26x1.5 L=15

059103193
059103193851

257.820.001 OASI116
1/2" L=21.5

06035417
6035417

CHRYSLER @

257.864.001

L=17
" 061103801

OAS162

OAS097

M10x1.25 L=13

256.851.001

031129, 11137543584
1146063, 1451673
30735088

PEUGEOT @

BMW

OASO073

M12x1.5 L=10

433.411.001

11137553918
‘ '

257.806.001 OASITI1

M12x1.75 L=12
L
@

OASOO03

M14x1.5 L=10

732.122.001

0009907417
03137

MERCEDES @

PEUGEOT

OASI128

M14x1.5 L=12

257.834.001

4805005, 4813878
92138682
92139054

OPEL @

GM

OAS127

M14x1.5 L=15

257.833.001

652451
94316800
LFE510404

OPEL @

MAZDA

588.670.001 OASO006
M14x1.5 L=18

1459212
N90813201
N90813202

FORD @

VAG

564.470.001 OASO56
M14x1.5 L=24

05073945AA, 1119970330
6019970230
MUO010645

MERCEDES @

MITSUBISHI

OASO087

M16x1.5 L=12

518.471.001

016388, 016393
1112800Q0A

PEUGEOT

NISSAN

OASO005

M16x1.5 L=16.5

732.120.001

16321

CITROEN @

862.370.001 OAS020
M18x1.5 L=12

DIN 910

OASO054

M18x1.5 L=22

822.361.001

46476967
60812431

FIAT

257.858.001 OAS156
M20x1.5 L=14

000908020004
NO0908020004

MERCEDES

OAS122

M22x1.5 L=10

257.827.001

91110717603

PORSCHE @

OAS147

M22x1.5 L=14

257.853.001

1147695
1525410

269.750.001 OASO069
M22x1.5 L=9

06080990019

OASI145

M24x1.5 L=12

o ‘ 0000127161
RENAULT

866.369.001 OAS046

M24x1.5 L=17

257.851.001

012301127C
012301127F
WHTO001937

v ©

OASI18

M26x1.5 L=9

257.823.001

NO161641

PORSCHE e

257.843.001 OAS137
1/4" L=1

UAM2957L

LAND ROVER @

257.875.001 OAS173

L=40

1830727
1830728
CTIQ6730AA

CTIQ6734AA
FORD

866.368.001 OASO045
M10x1.5 L=8

N90414201
N90414203

w O

866.366.001 OASO043
M12x1.5 L=11

M131742994
11137568309

. @O

862.360.001 OASO09
M12x1.75 L=15

7123346

564.471.001 OASO57
M14x1.5 L=10

HEO0310404

257.867.001 OAS165
M14x1.5 L=12

1616854180
N91180601

PEUGEOT
VAG

518.470.001 OASO086
M14x1.5 L=15

1005305, 1009179, 7871385
NO161552, NO161554
N91288901

FORD @

VOLVO, VAG

280.751.001 OAS095

M14x1.5 L=18

N90660601
‘ ’

OASO74

M14x1.5 L=9

433.410.001

DIN7604

727.120.001 OASO088

i M16x1.5 L=12
(&

OASI141

M16x1.5 L=17

257.847.001

807016210

SUBARU @

OASI101

M18x1.5 L=12

257.810.001

9003341020

TOYOTA e

257.802.001 OAS107

M18x1.5 L=8

Qe 016354
PEUGEOT @

OAST14

M20x1.5 L=14

257.818.001

807020010
807020070
807020090

SUBARU @

257.842.001 OAS136
M22x1.5 L=11

0179903001
1200A346
A0179903001

MERCEDES @

MITSUBISHI

257.868.001 OAS166
M22x1.5 L=14

N10037105

257.803.001 OAS108
M22x1.5 L=9

16992611, 29525161
4403189
7701042339
911m89

IVECO, OPEL
RENAULT

257.857.001 OASI155

M24x1.5 L=14

5200523382

RENAULT

257.849.001 OAS143
M24x1.5 L=18

20556987

257.852.001 OAS146

M26x1.5 L=9

0100315

257.854.001 OAS148
3/4"14 L=20

980573

257.870.001

OIL SUMP PLUGS

OAS168
M10x1.5 L=9

WHTOO00206A

257.829.001 OAS149
M12x1.5 L=12

07119904550
07119910368

o @

862.363.001 OASO12
M12x1.75 L=15

3051079, AJO310404
LFOT10404
XW4EG730AA

FORD @

MAZDA

822.360.001 OASO55
M14x1.5 L=10

1659085E00
16590N863J00
1722061, 4708537

SUZUKI,

FORD, OPEL

862.362.001 OASOT1
M14x1.5 L=13

09275631, 90409376
652475
652491

OPEL @

DEAWOO

257.844.001 OASI138

M14x1.5 L=15.5

o & B6F410404
MAZDA @

257.876.001 OAS174
M14x1.5 L=19

WHTOO0897A
021115434

v O

539.970.001 OASO76
M16x1.5 L=13,5

2221
7703075012

PEUGEOT

RENAULT

257.860.001 OASI158
M16x2.0 L=14

0149900001
A0179900001

MERCEDES

935.930.001 OAS090
M18x1.5 L=15

1218178
7703075077

RENAULT

VOLVO

269.751.001 OASO070

M18x1.5 L=9

Q @ DIN 7604A

OASO21

M20x1.5 L=14

862.371.001

DIN 910

@

257.848.001 OAS142
M22x1.5 L=12

1404038
4894139

v @

IVECO

862.372.001 OAS022
M22x1.5 L=14

DIN 910

@

257.855.001 OASI153

M24x1.5 L=14

981281

&

257.850.001 OAS144
M24x2.0 L=18

01433641
1423608
1433641

SCANIA

732.121.001 OAS002

3/4"x16Gx12

948187

OIL SUMP PLUGS

452.810.001

OASO085
M12x1.25 L=12

1112801MO05, 111289C600
111289C60A, 11128BX000
137791817

TOYOTA @

BMW, NISSAN

862.367.001 OASO17
M12x1.5 L=12

DIN 910
¢

OASO04%

M12x1.75 L=16

731.110.001

11519933, 11562588
4948795, 652454
9L8E3730AA

SAAB, OPEL @

FORD,

866.363.001 OASO41
M14x1.5 L=11

NO160275

©

256.850.001 OAS096
M14x1.5 L=13,5

031132, 1013938
1E0010404
97IM6730BA

CITROEN, @

FORD, MAZDA

257.845.001 OASI139
M14x1.5 L=15.5

B6S710404A
¢

257.859.001 OASI157
M14x1.5 L=19

111284A00B, 4711491
1151863310, 95507357
1151863310000

NISSAN @

SUZUKI, OPEL

257.808.001 OASI105
M16x1.5 L=15

031134, 031139
M37546274
11137585928

BMW

861.360.001 OASO008

M18x1.5 L=15

627.690.001 OASO078

M18x1.5 L=16

378.580.001 OAS092

257.821.001 OASO060

M22x1.5 L=13

031120, 1550024
55189930, 60808630
7734022

PEUGEOT
FORD, FIAT

142.020.001

M22x1.5 L=14
e 11131250089

OAS093

@

862.369.001 OASO3]
3/8" L=10

04720352, 1112851NOO
1112869200, 111286920A
68040680AA

K68040680AA 2
NISSAN

CHRYSLER

PEUGEOT

M10

862.364.001 OASO14
M12x1.5 L=12

0029973430, 05073890AA
07119903199, 1239970130
1239970430

MERCEDES

257.862.001 OAS160
M12x1.75 L=18

55577568
652254

822.362.001 OASO53
M14x1.5 L=11

0924714044, 4805011
2151221010
KKYOT110404

SUZUKI, KIA @

OPEL

256.852.001 OAS099
M14x1.5 L=14

2151221000
5956222
5956230

HYUNDAI @

HONDA, SAAB

OASO08]

M14x1.5 L=16

427.410.001

1454117, 6186775, 6732529
89FF6730AA, 9132929
LSF1000402

FORD, SAAB @

LANDROVER

731.111.001 OASOO]1

M14x1.5 L=20

11137513050

@

866.362.001 OAS040
5/8"x11Gx16

DAM7355

@

NO THREAD

www.fal.pl




	Strona 1

